F17EIETESST 1 —A i) —4 (U-18)

Hoh—20%K

== A e =
2212 -2 mES BN exam [0 Am wx
A B0 HE
= E1IEBEAEYS T 1— Mg —4 (U-18) % 3 #2019 8 H25H ( B ) ?é # 30 A
£ 15 : 00 ¥v947  |mliER H[R
= NCBERSYEES] ElE FANEHE
IRRN—Y 2’35 |[FB MEZ K BA R K[ LB BE K
15 G s I S 3 B ME ER K
F—L4A NEESR F—L% kick off
TRANLSIERE AEEAE HEFC
5| 7 SERI 1 [%
B5E&S Ei% EES
O x PKEY O x
22—k EET+E) H 1 La—k (1§ R EIX+ED)
TR|E|E f Al B OF & (B LB (B E F 4 Al % E | E |3 A
BRI & | Al 3 3 5 5 3 3 Bl | & [pE S
o RN st |12l GK 1 BE hE 33 4
) 8 E£AN |7 7| K& FA %)
[ & 1 x| @A B& |39 DOF [i8] 2F =ZZ N
7 BH Bt (51 4 BR BE HT 53
7 XkiE #E |53 15 BA 54 2l
vt 5 * W ZEX |26 10 Mg FF * 7
b2 H# 2B+ [300 MF 6| #M =35> 61 %>
|pT 5 =F W@E |46 17 Bl #{E 7
X & 1 2% B |43 of E EN 48 %
®l % 1 2 INR BB [41 1| BBk ZNEE 1 %) kg
FHT 5 1 % k& B (42 Fw |12 WA HX el b
F x R E B F
) KB #HFE  |37) GK | MF | 8| fh% HE 72 1
) HE BEZ |3| OF | MF | 5| k& = 73| 6
7 B 8K |4 MF | MF [14] %E Z& 7 4
26| 5 it #Ez (| MF [ Fw 18] B wE 7 9
o =H 1 16| MF 2
5 ARl K— |20 MF 5
39 & 2 = BF |[36] MF AN
U B #E |38 MF 7
46| & 2wk B —& |48 MF Ay
) NEEKR 18] FW 4
o M2 HEiE |19 FW AN
42 5 3 NFOJER [45] FW Py
8 10 [ne] 18 [st{za—rm[a] 2 [aE] o i
=R RN K & [BH| At [sefes|edlnd F— L a5 nelaslun{ze] &5+ [ RN K & [=mH
2 0 ojo] G K [i0]9 19 2
2 6 214 c K Jo|lo 0 Y
7 5 2| 3| EEFK | 3|3 6 )
AN 1 o| 1| FEI¥EFK | 1] 0 1 7
25 0 olof] PK Jo|lo 0 e
BRE| F—L4 |BAB| 7YX b | [BABB] BEH:FYI L~ -TOO/RR—FERNGBE X -ATAUTH-a—bs
44| #FFC 10 7 7N (FK)10HS
B |7 9|TRLSIERE| 26 8 8S X 26S
1 | TRACLUSIERE 42 46 46N 428
B |27 | TR 43 30 30—43S
B |34 2| TARLSIER| 39 46 46 N 39HS
58 M TRANLSIEEE| 36 36S
B |64 H|TAFLSER| 48 43N 11HS48HS
68 7| TRARLSIER| 48 48S
fj\




